

Report

Problem 1 (GW- Page 58) Let X have probability function $G_X(s)$ and let $u_n = P(X > n)$. Show that the generating function $U(s)$ of the sequence u_0, u_1, \dots satisfies $(1-s)U(s) = 1 - G_X(s)$

Set $P_n := P(X = n)$, then the probability generating function of X :

$$G_X(s) = \sum_{n=0}^{\infty} P_n s^n = \sum_{n=0}^{\infty} P(X=n) s^n \quad (n \in \mathbb{N})$$

One has $u_n = P(X > n)$ and $u_{n-1} = P(X > n-1)$, then:

$$P_n = P(X=n) = P(n-1 < X \leq n) = P(X > n-1) - P(X > n)$$
$$\rightarrow P_n = u_{n-1} - u_n \quad (\text{for all } n \geq 1)$$

And for $n=0$, $P_0 = P(X=0) = 1 - P(X > 0) = 1 - u_0$

$U(s)$ is a generating function of the sequence u_0, u_1, \dots then:

$$U(s) = \sum_{n=0}^{\infty} u_n s^n$$

One has $1 - G_X(s) = 1 - P_0 - \sum_{n=1}^{\infty} (u_{n-1} - u_n) s^n$

$$= 1 - (1 - u_0) - \sum_{n=1}^{\infty} u_{n-1} s^n + \sum_{n=1}^{\infty} u_n s^n$$

$$= -s \sum_{n=0}^{\infty} u_n s^n + (u_0 s^0 + \sum_{n=1}^{\infty} u_n s^n)$$

$$= -s U(s) + U(s)$$

$$= U(s)(1-s) \quad \square$$